Paper 2
                                                   Decimals                                                                    Aras 1(Sederhana)
Answer all questions.

1. 9.91 + 2.40 =
2. 92 + 25.7 =
3.          + 2.2 + 74.09 = 93.2
What is the number in the box?

4. Add 13.07, 1.41, 9 and 0.02.

5. What is the sum of the values of digit 3 and digit 9 in the number 327.692?

6. 5.82 – 0.7 =

7. 8.61 – 0.02 =

8. 9 – 8.69 =


9.          – 2.67 – 1.07 = 11.02

The value in the box is

10. What is the difference between the values of digit 6 and digit 2 in the number 37.642?

11. 8.21 – 4.76 – 2 =

12. 3.09 × 3 =

13. 5 × 8.15 =

14. 11.14 × 1 000 =

15. 12.429 × 13 =

16. 2.09 ×8 =
17. What is the product of the digit value of 9 and the digit value of 5 in the number 293.568?

18. 0.846 ÷ 6 =

19. Solve 
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20. Divide the digit value of 5 with the digit value of 2 in the number 353.742?
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